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Instructions to the can‘??;é: N
1)  All questions-ave comp

3)  Use of simple ca{i:’“lg]tor is allowed.
4 Al qu%@' s carry equal marks.
" A Jb
=N A
Q1) Solve %ﬁ fiye,: #4m [5%2=10]

2) Figure to Migkg\

a)  The main point of finan pagement in a firm 1s:
i) . ’the number and of products or ser@%@s provided by the firm.

N L
i) the mininizat

u) the creati ;
iv) the pr &;‘
b) The te %1

share holder’s eqt{ﬁ“y

C 1s represent%@%y the total current assets.

1)  Gross working capital
i)  Net working capital

u) Fixed working capital

iv) variable working capital

d) What is Business Finance?

€)  Enlist financial statement of listed com ii1y. %a;; k
f)  What is the formula for calculating in%rést coverage ratio?
g) Define the term cost of capital. &

M

h)  What do you mean by leverage? §

PTO.



02) Answer any two.

/ %j_.;'.}f_‘.é,)‘ \ Explain in brief modern approa@g of financial managemcnto

/3 ' bk) :_»‘\_;Explain in detail the trend analy: is.
fﬂ Ha9E) | Critically involved in capital budgetiag process.
\& 4 J i Y &7 »
s l o~ J ~,
Q3 a)” egfﬂge following information.
A; Book Value | Mark e Specific Cost |
N Rs) | (R (After Tax) |
pital ) | 10,00,000 1 00 15%
nceshare | 10,00,000 mo 0 %
1,900,000 .| 4%
_Rg@@l Earnings 1,75,000- 12%
Total 33,65,000
[10]
b) Fromt ing info [10]
it . 4 ﬁ\*‘%
AN v
et operatingcycle p@bd. N
fumber of operat_ing“cycles in given period. N
articulars @%’? Amount (R@
aw materials con&ﬁﬁfption per annum 8,42,000-
Average cost of production &;ﬁ_Z,ZWO
Annual cost of sales N7 1530,000
__Armual sales _ \;ﬁ? _gI;?;S0,000 B
Average value of current Assets held: ) 2
Raw Materials UV 1,24,000
‘Work-in-progress B Ve 72,000
 Finished goods 1,22,000
 Debtors Ao 2,60,000
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The company gets

3Hday_s_credits frommftg'.suppliers. All sales made by

the firm are on credit only. You can t&%& ‘one year equal to 360 days.

2



04) a) Fellowmg are the details of AVD corporation Ltd.
- Liabilities | Amoun‘,i;ﬂ - Assets
| Rs). D"
|

" Equity share capitalL ‘ 700@@0 .~ Fixed Assets
Reserve & Surplus 4(}% 00 = Martetable

| Investrr%ﬁ
‘ @00 000 | CJOs.%ito - 2,00,000
r«,, D 3,00,000 |
14,00,000  14,00,000

1,00,000

¢ 3 C 'msﬁ‘t’ on the financial p8&ition of the company 6n the basis of
i ﬁf{)rkmg capital T@ Ratio. »\\9
i) %Cment ratio s
n‘fr}jX Liquid ragjo Q N A
ey o

iv) Debtor N Pratio f’“‘w? \‘9'

v} Credit elo®ity Oy iy [10]

b} Analy o;rating, fi = and\'c'()mbined leverage under financial
X L

inancial ple el
n two dlffe 1tua?rens [10]

PRrticulars _%%g —_ Z Amount (Rs) | "~

#al Assets a Mf’ | 6,00,000 | “‘gQ
ITotal Assets Turnover “Eased on sales | 3 ! N
t | O | N -(‘:.b
 Variable cost as peg\&bﬁtage of sales | 70% D
%% = J
Particulars . Financial PlanA | Financial PlanB | ™

Equity f 7,00,000
10% Debenture 2,00,000

y W
05) a) ABCLtd. is planning to invest in new proj he@&%zestment budget of

the company is Rs. 40,00,000. The co Mh sifollowing alternatives.

| L f > Ny [10]
Particulars | Project A N~ R&E’]ect B
Initialinvestment | 25,00,000 (5325,00,000
Useﬁﬂ lite . ! Syears i ,'_ byears
'Cosi of: c;apltal 10% N 10%

_._;.__
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_ _Cqsh inflow at  the end of the year
Ye_a_r__ __Project. A e h 2 ﬁr _Ject B _h O
| 5,00,000 ] 3‘\‘10 0,00 OOO (J

| |
700000 5 650000

~ 700000 C-Q
___,3}4_ e _\‘x ’xl___ =shoilieg e
400000 &
4—*&—; S |

e
hlchspr\oject the compan

10d, Wei present value ang

T ]

|' IS
|
|

=y

! select on the basis of pay
Mylity Index.

b) f’g pro‘ffonna*cost sheet of Xyz ides t ing information, [10]
Paﬂltigzaﬁs_ ' ~
_Material
Laﬁour
| Overheads B

Total cost
 Profit
' Selling
Additi
1)
)~ Work in progress f@f average half a month. i, "
) Credit allowed. @ suppliers is one month. | ;w )
Q V) Credit allowed“to customers one month, {,b W’*
vi) Lagin payment of wages is half a month. Oy ? N

vi)) Lag in payment of overheads is a month.
viii) Half of sales are on cash basis.

-iX) cash balance expected is Rs. 1,50,00
X)  Finished goods remain in stock for

The production and saleg are consistef ore"”‘c&t the working capital
requirement for the said leve] of acti as  per cash cost method.
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